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CTET-II CDP Memory Based Questions Q2. Which of the following is related to proper
speaking?
Q1. Which of the following is not developed Ans: fluency, vocabulary, grammar, and
during the sensorimotor stage of Piaget's pronunciation.
theory?
Ans: The idea of object reality & Language | Q3. "Toreadin between lines”, is used for
and thought Ans: Scanning
Q2. Which of the following is not true about | Q4. The amount and type of scaffolding for a
development? child would change depending on the
Ans: Development proceeds from specific to Ans: level of the child's performance
general
Q5. Which of the following is not an aid material
Q3. Piaget gave four stages of cognitive used for visually impaired students?
development. Which of the following is not Ans: textbook supplement
one of them?
Ans: Conventional Level Stage Q6. In Piaget's theory of cognitive development,
refers to a child's inability to see
Q4. Which of the following is not a characteristic other people's viewpoints.
of Dysgraphia? Ans: Egocentrism
Ans: Poor body balance
Q7. Itis the smallest unit of speech-
Q5. According to Vygotsky, learning cannot be Ans: Phoneme
separated from
Ans: its social context
' CTET-II Mathematics Memory Based
Q6. Inthe (?ontext of Kohll_)erg s stages of moral Question
reasoning, under which stage would the
given typical response of a child fall? 1 [{=2 (2+3)x 20}
"Your parents will be proud of you if you are Q1. 2 [f] =7
honest. So, you should be honest." Ans: -50
Ans: Good girl-good boy orientation
Q2. A 400 m long train is running at 72 kmph,
Q7. The prime focus of NCF was child-centric how much time will it take to cross an
learning and electric pole.
Ans: learning without burden Ans: 20 sec
Q3. Worker A takes 8hours to do a job, workers
CTET-II English Memory Based Question B takes 10 hours to do ajob, how long should
it take both A and B, working together to do
Q1. Learning alanguage is a- the same job-
Ans: Gradual process Ans: 4%
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Q4.

Q5.

Curved surface area of a cylinder having
“w_n

base radius “r” and height “h” is equal to -
Ans: 2nirh

Which is the largest  fraction-

5 .7 58 7
4-,6-,7-,7—
6’9" 9’ 10

Ans: 7§
9

CTET-II Science Memory Based Question

Q1.

Q2.

Q3.

Q4.

Copper is generally used for making
electrical wires because .

Ans: It is ductile and a very good conductor
of electricity

Which of the following sets comprises
human diseases caused by a virus?

(a) Tuberculosis, measles, cholera, polio

(b) Hepatitis A, Measles, Polio, chicken pox
(c) Cholera, Typhoid, Polio, Tuberculosis

(d) Cholera, Typhoid, Hepatitis A, measles
Ans: Hepatitis A, Measles, Polio, chicken pox

When an acid reacts with a base, which of
the following is/are produced?

(a) Only salt

(b) Only water

(c) Salt, water and heat

(d) Salt and water

Ans: Salt, water, and heat

Which of the following sets comprises
physical changes?

(a) Shredding of paper, baking a cake,
bursting of crackers

(b) Boiling of water, cooking of food, rusting
of iron

(c) Burning of paper, setting of milk into
curd, breaking a glass

(d) Breaking of glass, grinding wheat, boiling
of water

Ans: Breaking of glass, grinding wheat,
boiling of water

Q5.

Q6.

Q1.

Q2.

Q3.

Q4.

Q5.

Which of the following is a pair of Rabi
crops?

(a) Wheat, Mustard

(b) Mustard, Paddy

(c) Paddy, Peas

(d) Peas, Maize

Ans: Wheat, Mustard

A block of wood is lying at rest on a table.
What can be said about the forces acting on
it?

Ans: There is a pair of balanced forces acting
on it

CTET-II Social Science Memory Based

Question

Tropic of Cancer passes through all the
following states except?
Ans: Haryana

Assertion- The Andes mountains are an
example of young fold mountains

Reason- Over ten million years ago, the
tectonic plates near South America collided
with each other to form a range of fold
mountains

Ans: both are correct and reason is the
correct explanation of Assertion.

What causes days and nights?
Ans: Earth’s rotation

Who was the founder of the Slave dynasty ?
Ans: Qutub-ud-din Aibak

Algae and fungi are in the division .......
Ans: Thallophyta
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